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CCCA Unit 2 - Solving Equaiions & Inegualities V i V Task
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Task: Summer Job

MCC9-12.A.REL.12 Graph the solutions to a linear inequality in twe variables as a half-plane (excluding the boundary in the case of
a strict inequatity), and graph the sotution set to a system of linear inequaiifies in two variables as the intersection of the
correspending half-planes.
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in order to raise money, you are planning to work during the summer babysitting and cleaning
houses. You earmn $10 per hour while babysitting and $20 per hour while cleaning houses. You
need to earn at least $1000 during the summer. You don’t want to work more than 70 hours.

1. Write an expreésion to represent the amount of money earned while babysitting. Be
sure to choose a variable fo represent the number of hours spent babysitting.
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2. Write an expression to represent the amount of money earned while cleaning houses.

3. Write a mathematical model (inequality) representing the total amount of money
earned over the summer from babysitting and cleaning houses.
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4. Write a mathematical model represenimg how many hours you expect to work at each
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5. Graph the mathematical models. Graph the =
hours babysitting on the x-axis and the hours &
cleaning houses on the y-axis. '
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6. Use the graph to answer the following:
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What are some possible combinations of outcomes that equci exac’rly $l OOO
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c. Isit acceptable 1o ecrn more thadn $10002 What ore some possible
combinations of outcomes that total more than $10002 Where do all of these
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d. Isit occep’roble to work 10 hours babysitting and 10 hours cleaning houses? Why
or why not2 Where does the combination of 10 hours babysitting and 10 hours

* cleaning houses fall on the graph? Are combinations that fall in this area
solution to the mathematical model?2  Why or why not?
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7. How would the model change if you could
only earn more than $10002 Write a new 100 ' _ - (”‘A
model to represent needing to earn more
than $1000. How would this change the grap
of the model2 Would the line still be pari of
the solution? How would you change the line o
to show thise Graph the new model. < K

40

b+afz70 - C<edo-b
Ob+20¢ >1000 ;53,20

dashed Line "~ so Hings ovi
dhe line are net Solufion.s '

You plan o use part of the money you earned from your summer job to buy jeans and sﬁﬁs for
school. Jeans cost $40 per pair and shirts are $20 each. You want to spend less than $400 of
your money on these items.

8. Write a mathematical model representing the amount of money spent on jeans and

shirts. 40\_)0 + Q-OS = AHJD

9. Graph the mathematical model. Graph the number of jeans on the x-axis and shirts on
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d. Isit acceptable to spend more than $400% Where do all of the combinations
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